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o 3 ®m R 66,990 (122,550)| 56,890 (112, 450) |+ 500 (1,110) | x M= 490| (1,010 | x| |0 ool 100 X MELEE
A e |1 2mR 122,550| (197, 400) | 112, 450] (187, 300)|+| 1.110] (1,860)| x m&=| 1, 010] (1,760)| x &=
T g I3 197, 400 187, 300 +| 1,860 x gz 1,760 X B
5IA | 0g |[4BUER 53,100 (60,580)| 44,690 (52, 170)| + 460  (530) | x EX 380 (450)| X AR
o 3 ® R 60,580 (116, 140)| 52, 170 (107, 730) |+ 530 (1,050) | x &= 450|  (970) | x MR 8, 750| + 80X EE
04 |42 [1. 288 116,140/ (190,990)| 107,730] (182,580)|+| 1.050| (1,800)| x maE= 970 (1,720) | x =&
T g I3 190, 990 182, 580 +| 1,800 x gz 1,720 X B
6IA | om |4EMLR 48 600 (56,080)| 41,400] (48, 880)| + 4100 (480) | x nE=x 340[  (410) [ x xR
i 3 & R 56,080 (111,640)| 48,880 (104 440) |+ 480 (1,000) | x &= 410]  (930) | x MR 7.500] + J0x MEE
[ I KIS Y 111,640| (186, 490) | 104, 440] (179, 290)[+| 1. 000] (1,750)| x &= 930| (1, 680) | x mE*E
Fe 97 g I 186, 490 179, 290 +| 1,750 xmg#E| 1,680 X B
TIA | s [4BRER 45,290] (52, 770)| 38,980 (46, 460) | + 380] (450) | x mEE 320]  (390) | x mEE
e 3 B R 52,770 (108,330)| 46,460 (102,020) [+ 450]  (970) | x MR 30| (910) | x M= 6. 560| + 60X MEE
804 | ae |1 2R 108,330/ (183,180)| 102,020 (176,870)|+ 970 (1,720) | x mE*E 910| (1, 660) | x ME*E
EFC T g 3 183, 180 176, 870 +| 1,720 x gz 1,660 X B
BIA | oz |[4BUER 42,660 (50, 140)| 37,050] (44 530)| + 360  (430)] x EX 3000 (370)| x AR
) 3 ® R 50,140 (105,700)| 44,530 (100, 090) |+ 430]  (950) | x MR 370]  (890) | x M 5,830| + 50X MEE
WA e |1 28R 105,700| (180,550)| 100,090| (174, 940) | + 950, (1,700) | x & 890| (1,640) | x &
7 g I3 180, 550 174, 940 +| 1,700 x gz 1,640 X MEE
9A |0z |[4EHLER 37,240 (44,720)| 32,200 (39, 680)| + 3000 (370)| x &= 250]  (320) [ x &
20/100|  »5 3 ® R 44,720 (100,280)| 39,680 (95, 240) |+ 370]  (890) | x M= 320 (840) | x % 6, 250 + 50 ISR
it [ 1004 1. 2&R 100, 280| (175,130)| 95,240 (170, 090) | + 890/ (1, 640) | x pnE = 840| (1,590) | x fnE =
il R 3 175, 130 170, 090 +| 1,640 xm&E=| 1,59 X MEE
01A | 95 [BERER 35,860 (43 340)| 31 270] (38,750) |+ 290]  (360) | x mEE 2400 (310)] x EX
i 3 ® R 43,340| (98,900)| 38,750 (94,310)| + 360] (880) | x &K 310)  (830) | x M= 4 770| + JOX MEE
oA o |1 2R 98,900 (173,750)| 94, 310| (169, 160) |+ 880, (1,630) | x & E 830| (1,580) | x &
FTOE g I 173, 750 169, 160 +| 1,630 x x| 1,580 X MEE
A | o8 [+BRER 34,680 (42,160)| 30,470 (37,950) |+ 280]  (350) | x mEE 230]  (300) | x mEE
S 3 ® R 42,160 (97,720)| 37,950| (93,510)|+ 350| (870) | x & 300] (820) | x MEEK 4 370| + JOX MEE
1208 g |12 2ER 97,720 (172,570) 93,510 (168, 360) |+ 870| (1, 620) | x mnE = 820| (1,570) | x g =
FTE g w| | 172570 168, 360 +| 1,620 xma=| 1,570 X ER
1214 | 2 [4BMULE 33 670 (41,150)[ 29,790] (37, 270)|+ 270 (340)| x =% 230]  (300) | x mE*E
o 3 ® R 41,150 (96, 710)| 37,270| (92, 830) |+ 340|  (860) | x MR 300] (820) | x MK 4 030] + JOX MEE
180A 1o |1 2R 96,710| (171,560)| 92.830| (167, 680) [+ 860 (1,610) | x mE*E 820 (1,570) | x &=
FT T g " 171, 560 167, 680 +| 1,610 xmEx| 1,570 X MEE
1BIA | o5 [EAER 32,840 (40,320)| 29 240] (36,720)| + 260]  (330) | x & 220]  (290) | x &
[ 3 ® R 40,320 (95,880)| 36,720] (92 280)|+ 330]  (850) | x MR 20|  (810) | x M= 3,750| + WX MEE
T40A sz |12 2ER 95,880| (170,730)| 92 280| (167,130)|+ 850/ (1, 600) | x pnE = 810/ (1,560) | x pnE =
FT |7 g I3 170, 730 167,130 +| 1,600 xmg#| 1,560 X MEE
1A | 0m [ABEER 32,100 (39,580)| 28 730] (36,210) |+ 250 (320)] x =& 200 (290)| X &%
" 3 ® R 39,580 (95, 140)| 36,210 (a1, 770)| + 320]  (840) | x MK 200|  (810) | x xR 3,500| + WX MEE
oA | 2&R 95,140 (169,990)| 91,770| (166, 620) |+ 840 (1,590) | x &= 810| (1,560) | x MR
Fe U7 g " 169, 990 166, 620 +| 1,590 x mEx| 1,560 X IEE
151A | 05 [4BERER 32,310] (39,790)| 29,160 (36, 640) [+ 250]  (320) | x mEE 200]  (290) | x mEE
D 3 ®m R 39,790| (95,350)| 36,640 (92, 200) [+ 320]  (840) | x MK 20|  (810) | x M= 3,280| + SO
160A g |1 2R 95,350| (170,200)| 92, 200| (167, 050)|+ 840/ (1,590) | x pnE =R 810| (1,560) | x &=
FTE g I 170, 200 167, 050 +| 1,590 x mEx| 1,560 X B
1614 | om [4BEER 31,710] (39,190)| 28 740] (36, 220) | + 250]  (320) | x MEE 220 (290)| X E=
S 3 ® R 39,190 (94,750)| 36,220 (91,780) |+ 320]  (840) | x MR 200]  (810) | x M= 3,080| + WX MEE
1704 3z | 1. 2ER 94,750| (169,600)| 91,780| (166, 630) |+ 840| (1,590) | x @ = 810/ (1,560) | x fn&E=
FT T g w| | 169, 600 166, 630 +| 1,500 xmE=| 1,560 X s
oz [ABULE 31,150 (38,630)| 28 350] (35,830) |+ 240]  (310) | x & 210]  (280) | x &
171A 3 ® R 38,630 (94,190)| 35830 (91,390) [+ 310)  (830) | x M 280|  (800) | x MK 2 90| + 20X IEE
el P KNS T 94,190 (169,040)| 91,390| (166, 240) | + 830 (1,580) | x M =x 800 (1,550) | x =&
7, I3 169, 040 166, 240 +| 1,580 X MEHR| 1,550 X B H
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o | mE
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£T | 35 |
g I3
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a0 | 7|3 & B 7, 480 70X g% 493, 300 4,930 X &K
110N 22 1. 2R
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MA | g |[4BEER (7,480)[  (70x fn%E=) 530, 100 5, 300 X fn & &
a7 3 B ® 7,480  70xmE®
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1214 | o [ABHLER|H| 7480 (70xmEx)
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130A S|, 2mR 603, 600 6, 030 X fnE R
< | 35 |
g I3
131N | 9 |[4BEER (7,480)|  (70x MnE=X) 910A~ 979A 910A~ 979A
w0 | 7|3 & B 7,480 70xmE® 640, 300 6, 400X AN
140N 22 1. 2R
e " 980 A~1, 049X 980A~1, 049.A
1A | gm |4BULER|+[ (7. 480)[ (70x705r) 677, 100 6, 770 X pnEER
O e 7,480  70xmEE
150 A - [1. 28R 1, 050 A~ 1, 050 A ~
=T | 3% |
N U] 713, 800 7,130 X fnE %
1514 o [4muER|+| 7480 (Foxingx)
25 - ]
o 3 ® R 7, 480 70 X A
160N 1 1. 2@E
T | %5 Iy "
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) 3 ® R 7, 480 70 X AR
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- - _— R E A & N E EERME F—LREBHENE HREHO (= T T
oy |FRED |y | FHED nEE ms mamEs | || |FUEAC| | mavesa
B o | Bk | g n#
0] @ ©)] @ @ @ @ ® @
og |4mELER| [Aws | 590 6500 [aseist] 15100 16 800 @+
3 #® ®|,|Bms| 5600 6200, bt 8300 9 200 - +@©@-+@) (©~®)
20A 4s |1 2mR| |cwm | 530 500 | ok 7,200 8000 P 50| | RO 25 X 6/100 X 80/100
3 w| | Dt | 5000 5600 | dissi| 6,500 7,200
21h | o |4EELER| [Ass | 4100 4500 [akd| 10,500 11,700 ©+0
301\5 3 @& B, |Bi 3900 4300, | b 580 6400 |, aool |40 s +@©@-+@) (©~®)
| 3 [1. 2mR| |omm | 3800 4200 |cis 5000 5600 X 6/100 X 87/100
T 3 w| | Dt | 3,600 4,000 | dis | 4,500 5, 000
51A | gm [4BSLER| [Ates [ 3600 4000] [asi| 93000 10,400 ©+0
i 8 #& E| (B 3400 3700, | b 5100 5700 |0 ool |10 e +@©@+@) (©~®)
A | oo |1, 2mR| | O 3,200 3600 [ 4500 5 000 ’ X 6/100 X 96/100
FT T g, w| | D | 31000 34000 | d#s | 4,000 4 400
sA | g |4BELER| [AteH [ 3300 3600) [ 8300 9 300 @10
S 3 #® ®|,|Bms| 3100 3400 | bt | 4600 5100 5 ool | g +Q@+®) (©~®)
S0A | .o 1. 2#®%| |cmm | 2900 32000 |ciE 4000 4400 ’ X 6/100 x 93/100
FT T g w| | D | 2,800 3,100 | disis | 3,600 4, 000
SIA | o |[4ESLEE| [Atim] 2700 3000 [aisi] 7,000 7,800 ©+0
S 3 m ®|,|Bms| 2600 2800, | bt | 3800 4 300 S | e —— +Q@+®) (©~®)
60A [ .o [1. 2mE| |cam 2400 2700 [ okt | 3300 3700 ’ x 7/100 X 90/100
FT T g, w| | omsm | 2300 2600 |ds | 3000 3300
61A | o [4ESLE| [Ati| 2300 2600 [alsi] 6000 6 700 ©+0
NS 3 m ®|,|[Bms| 2200 2400 | bt | 3300 3 600 g ai] | e +@+@) (©~®)
70N am |12 2R Cib 2100/ 2 300 ot | 2,900 3, 200 ' X 7/100 X 92/100
FT Ty w| | osm | 2000 2200 | dms| 2500 2800
7IA | gg [#BBLER| [Ass | 2600 2000] |ateh| 6700 7500 ©+0
NS 3 m ®|,|Bms| 2500 2800, bt 3700 4100 5 ]| e +Q@+®) (©~®)
80A | .o |1, 2#&%| |Cst| 2400 2600 o 3200 3 600 ' x 7/100 X 89/100
i e w| | omm | 2300 2500 | | 2900 3200
§1A | og |[4MBLER| [Ates [ 23000 2600) [asl| 6000 6700 ©+0
S 3 m ®|,|Bms| 20200 2500, b 3300 3600 P | +Q@+®) (©~®)
90A s | 1. 2| [CwE | 2100 2300 cHil | 2,900 3 200 ' X 7/100 X 91/100
FT T g w| | osm | 2000 2200| |dms 2500 2 800
g1n | g |[4MELER| [Ates [ 2100 2300] [asl| 5400 6 000 (©+D+®) ©®+0
20/100 ) 3 m ®|,[Bms| 2000 2200, b 290 3300 A || e +©@+@) (©~®)
Mg | 1004 ge |12 28| |Cist 1,000 2100 | oMt | 2500 2800 ' X 10/100 x 7/100 X 96/100
FT T g w| || 18000 2000 | dss | 2300 2 500
101A | og [4BMER| [Atu | 2300 2500 |athk| 5800 6600 ©tD
" 3 m ®|,|Bms| 2200 2400 | bt | 3200 3 500 P | +@+®) (©~®)
T0A g |1 2mRE| [Cs 2100 2300| | ok | 280 3100 ' X 7/100 X 95/100
e w| | osmm | 2000 2200| |dss 250 2 800
1A | o |[4BMER| [Assi| 2100 2300 [adhs| 5400[ 6000 ©+0
" 3 m ®|,[Bms| 2000 2200, |b#s| 290 3 300 | T EP— +@+®) (©~®)
120A g |1 2mR| [Cbs 1,900 2100| | okl | 2,600 2800 ' X 7/100 X 96/100
FT T |y w| | o | 18000 2000 | ds | 2300 2 500
1A | o |4BMER| [Asi | 1,900 2100 [ads | 480 5 400 ©+0
o 3 m w®|,[Bs| 1,90 2000, | b 2600 2900 | +@+®) (©~®)
130A ae |12 2mRE| |Cist | 1,700 1900 oyl | 23000 2 500 ' X 7/100 X 97/100
e w| | Dt 1,700 1,800 | ddssi | 2,000 2 300
131A | om |4BMER| [Ams ] 27100 2300 [‘asesi| 54000 6 000 GG
o 3 m ®|,[Bms| 2000 2200, |6 290 3300 | T pP— +@+®) (©~®)
T40A ae |12 2mRE| |Cist | 1,000 2100 ci | 2,500/ 2 800 ' X 7/100 X 98/100
e w| | osmm | 18000 2000 | dss| 2300 2500
WA | og [4BMER| [AtE | 2000 2200 [ades| 5100 5700 ©1D
i 3 m ®|,[Bwms| 1,900 2100 | b | 2800 3100 T [ E— +@+®) (®~®)
190A 1 oo |1 2mm| |owm | 1,800 1,900 | o | 2400 2700 ' X 7/100 X 98/100
e w| | o | 17000 1,000 | s 2200 2 400
151A | g [4BMLR| [At | 1,800 2000 [adhw| 4600 5200 10
~ 3 m ®|, [Bms| 1,80 1,900, | b | 2500 2 800 T [ e p— +@+®) (®~®)
160A 3 |1, 28R Citiig | 1,600 1,800 cHbt | 2,200] 2 500 ' X 7/100 X 98/100
FT Ty w| | osms | 16000 1700 | | 2000 2 200
161 A | o |4BMER| [Assi| 2000 2200| [adhs] 5100[ 5700 ©+0
" 3 m ®|,[Bms| 1,900 2100 | bt | 2800 3100 TS [ e —— +@+®) (©~®)
T70A g | 1. 2R| [Cbi 1,800 1,900| | okl | 2400 2,700 ' X 7/100 X 99/100
i ) | | D | 1,700 1.800| | dii | 2200 2 400
pe |4BUER| A 1800 200 [alsh] 4600 5 20 ©+0
1714 3 m ®|,|[Bms| 1,800 1,000, | b | 2500 2 800 o 4|l | s +@+@) (©~®)
Ut g |1 2mR| |Cist | 1,700 1,800 cHb | 2200] 2 500 ' X 7/100 X 99/100
7, 2| | D | 1,600 1,700 | dds | 20000 2 200
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RELEEXS ©

MBREEFME

i | oo | B REBERMEE | GARRMIER REBERMAERE FEEBHRE PRESENE
mp |FRED |y | FHED EFSEE EFAEE —_—
s s ) D) ABSHESIA
0] @ ©)] @ ® ® @ @
op |4BULR 96,160| (103 420)| 71,600 (78, 860) |+ 890  (960) | x pnE X 640/ (710) | x pnE=
- 3 & B 103,420, (157, 410) 78,860 (132 850)|+ 960| (1, 470) | x &= 710, (1,220) xS || o0 qq0] L 950 X JNEE
gm |1 28R 157,410 (230,020)| 132,850 (205,460)|+| 1,470| (2,190)| x ngs=| 1,220) (1,940)| x MEE
B s 230, 020 205, 460 +[ 2190 X g 1,940 X g
21 A op |4BULR 71,890 (79,150)| 55 520/ (62, 780)| + 650 (720) | x pnE& 480 (550) | x A=
" 3 B R 79,150| (133,140)| 62,780| (116,770)|+ 720/ (1,230) | x IEE 550| (1,060) x g | 0 000l 160 s
30N a2 |12 2R 133,140/ (205,750)| 116,770) (189,380)|+| 1,230/ (1,950)| x ngs=| 1,060 (1,780)| x MEE '
FT g | [ 205, 750 189, 380 +| 1950 xmgEx| 1,780 X B
31A op |4BULR 59,050 (67,210)| 47,670] (54, 930) [+ 530  (600) | x pnEE 410|  (480) | x g
ni 3 B R 67,210 (121,200)| 54,930 (108, 920) [+ 600| (1,110) | x hn& = 480 (990) x g |, cool 120 fss
0L | a5 [1. 2| | 121.200] (193 810)| 108,920] (181,630)|+| 1,110 (1. 830) [ xmEE| 90| (1,710)| x msE '
S 7 193,810 181, 530 +[ 1,830 x g 1,710 X g
MA o [ABUER 58,030 (65,290)| 48,200/ (55, 460) |+ 510/  (580) | x pnE& 410]  (480) | x pnE=
i 3 B R 65,290/ (119,280)| 55, 460 (109, 450) [ + 580 (1,090) | x &L 480 (990) xmmsgE| |0 ool 100X fnssk
50{%(* s |1, 2BE 119,280| (191,890)| 109,450 (182, 060)[+[ 1,090  (1,810) x s 990| (1,710) | x &=
B I 191, 890 182, 060 +[ 1810 x g 1,710 X g
51 A op |4BULR 51,800 (59,060)| 43,610/ (50,870) |+ 450 (520) | x pnE & 360 (430) | X INEE
ni 3 B =R 59,060 (113,050)| 50,870 (104, 860) [+ 520/ (1,030) | x &L 430 (940) | x g 8 460 + 80 x M
0L | a5 [1. 2| | 113.050] (185,660)| 104 860] (177.470)]+| 1,030 (1.760) | xm&H| 940 (1,660)| x stk '
) s 185, 660 177, 470 +[ 1,780 X g 1,660 X g
61 A og [4BALER 47,420 (54,680)| 40,410] (47,670) [+ 400/ (470) | x & E 330  (400) | x pnEE
ni 3 B R 54,680 (108,670)| 47,670/ (101, 660) [+ 470|  (980) | x 400/ (910) | x & 7 950 + 0% M
70{%? g |12 28R 108,670| (181,280)| 101,660] (174, 270)|+ 980/ (1, 700) | x pnE= 910/ (1, 630) | x pnE= '
3 3 181, 280 174, 270 +[ 1,700 x g 1,630 X g
71 A ) [4HUER 44,200 (51,460)| 38,060/ (45, 320) |+ 370|  (440) | x 310]  (380)] x &&=
i 3 & B 51,460, (105,450)| 45,320/ (99, 310) | + 440 (950) | x g 380  (890) | x mnEE 6 340| + 60X MR
80;\? s |1, 2RE 105,450 (178,060)| 99,310/ (171, 920) [+ 950 (1,670) | x &= 890| (1,610)| x po&E= '
D s 178, 060 171, 920 +[ 1,670 x g 1,610 X g
81 A op |4BULR 41,640 (48,900)| 36,180 (43 440) [+ 350  (420) | x pnE& 290|  (360) | x pnE&
ni 3 B =R 48,900| (102,890)| 43,440 (97, 430) [+ 420)  (930) | x g 360 (870) | x pnEE 5 640 + 50X Mk
0L | a5 [1. 2| | 102.80] (1755000 97,430] (170,040)]+| 930 (1,660) | xmEE|  870] (1,500 | x sk :
D I 175, 500 170, 040 +[ 1,680 X g 1,590 X g
9 A op |4BULRE 36,410] (43 670)| 31,500 (38, 760) |+ 290  (360) | x pnEE 240/ (310) | x pnEE
16/100 ni 3 B R 43,670 (97,660)| 38,760 (92, 750) [+ 360 (870) | x MEE 310|  (820) | x mngE ) 50X fELE
it [ T00A 3 |12 28R 97,660| (170,270)| 92, 750| (165, 360) |+ 870| (1,590) | x &= 820 (1,540) | x &= '
FT |7 g 7 170, 270 165, 360 +[ 1,590 x g 1,540 X g
01A | g |[4BUER 35,070 (42,330)| 30,600/ (37, 860)|+ 280  (350) | x pnE& 230]  (300) | x pnE =
" 3 B =R 42,330| (96,320)| 37,860/ (91,850) [+ 350 (860) | x Mg 300/ (810)| x g 4 610 - 40% MR
”‘;)% s |1, 2RE 96,320| (168,930)| 91,850| (164, 460) |+ 860 (1,580) | X fnEs 810 (1,530) | x &= '
£ I 168, 930 164, 460 +[ 1,580 x g 1,530 X g
1A | om |[4BUER 33,910 (41,170)[ 29,820/ (37,080) |+ 270|  (340) | x pnE = 230]  (300) | x pnE &
e 3 & R 41,170 (95,160)| 37,080 (91,070) [+ 340|  (850) | x & 300/ (810)| x pnEE 4 230] + H0xIEE
WZ;AT 3 |1 2R 95,160 (167,770)| 91,070| (163,680)|+ 850| (1,570) | x = 810| (1,530) | x B = '
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10A oo |1, 2/K| | cis 1800 1,000| | o | 2400 2,700 ' X 8/100 X 99/100
T la w| |Dss | 1.7000 1,800 | d#s | 22000 2 400
og |4meeR| [Asm] 1800 2000 [asist| 4600 5 200 ©+0
1714 3 m ®|,|[Bms| 1,800 1,000, | b | 2500 2 800 | I +@+@) (®~®)
Ut 3g |1 2mR| |Cist | 1,700 1,800 cHbg | 22000 2 500 X 8/100 X 99/100
7, w| | D | 1,600 17000 | d#s| 2000 2 200
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RELEEXS ©

MBREEFME

i | oo | B REBERMEE | GARRMIER REBERMAERE FEEBHRE PRESENE
mp |FRED |y | FHED EFSEE EFAEE I
) ) 3 3 e
0] @ ©)] @ ® ® @ @
op |4BULR 90,070, (96,770)[ 67,200/ (73, 900) | + 830 (890) | x pnE X 600/  (660) | x pnE XK
20 3 B R 96,770, (146,840)| 73,900 (123 970) |+ 890| (1, 360) | x hnE = 660 (1,130) x| |55 50l 4 230X M
gm |1 28R 146,840 (213,860)| 123,970] (190,990)|+| 1,360| (2,030)| x x| 1,130) (1,800)| x ek
B s 213, 860 190, 990 +[ 2030 xpngs| 1,800 X g
21 A op |4BULR 67,410) (74,110)| 52,160 (58, 860) [+ 600  (660) | x fnE & 450]  (510)] x B
" 3 B R 74,110| (124,180)| 58,860 (108, 930) [+ 660| (1,130) | x g 510]  (980) x| | o o0l L 150 Ak
30N sz |12 2R 124,180| (191,200)| 108,930| (175,950)|+| 1,130/ (1,800) | x pnE® 980/ (1, 650) | x &=
FT T g, w| | 191,200 175, 950 +| 1,800 xmgEx| 1,650 X B
31A op |4BULR 56,160 (62, 860)| 44,720] (51, 420) [+ 490  (550) | x & E 380  (440) | x pnEE
ni 3 B R 62,860 (112,930)| 51,420 (101, 490) [+ 550| (1, 020) | x hn& = 40 @10) xmgzf ool 110 At
40N a2 |1 2R 112,930| (179,950)| 101,490| (168,510)|+| 1,020| (1,690)| x pE® 910/ (1,580) | x pn&=E
F [ 97 g 7 179, 950 168, 510 +[ 1,690 x g 1,580 X g
41N | om |[4BHLR 54,330 (61,030)| 45,180 (51,880) [+ 470]  (530) | x pnE= 380  (440) | x pnE=
i 3 B R 61,030/ (111,100)| 51,880 (101, 950) [+ 530/ (1, 000) | x hn& = 440, (910) | x g 0, 280 + 90 % MR
B0A 3 |1 2R 111,100/ (178,120)| 101,950| (168,970)|+| 1,000/ (1,670)| x pnEx 910/ (1,580) | x &R
EFC T g I 178,120 168, 970 +[ 1,670 X g 1,580 X g
51 A o5 |4BULRE 48,530| (55,230)| 40,900/ (47,600) |+ 410]  (470) | x pnE= 340]  (400) | x A=
ni 3 B =R 55,230| (105,300)| 47,600 (97, 670) [+ 470|  (940) | x g 400/  (870) | x & 7.730| + 0% MR
60A 32 |12 28R 105,300 (172,320)| 97,670| (164, 690) |+ 940/ (1,610) | x &R 870| (1,540) | x &R
1 s 172, 320 164, 690 +[ 1610 X g 1,540 X g
61 A op |4BULR 44,470 (51,170)| 37,930 (44, 630) [+ 370|  (430) | x pnEE 310]  (370) | x pnEE
e 3 & R 51,170| (101,240)| 44,630 (94, 700) [ + 430 (900) | x & 370|  (840) | x g 6, 630] + 60X JNEE
70A 3 |1, 2ER 101,240| (168,260)| 94,700 (161,720) [+ 900| (1,570) | x &= 840| (1,510) | x &=
FT| 7 g 3 168, 260 161, 720 +[ 1,570 x g 1,510 X g
71 0 o [ABUER 41,460 (48,160)| 35,740] (42 440) |+ 340)  (400) | x pnE= 290  (350) | x g
ni 3 B R 48,160 (98,230)| 42,440/ (92 510) [+ 400/  (870) | x g 350 (820) | x g 5. 800| + 50X Mk
80N 3 |1 2R 98,230, (165,250)| 92,510/ (159, 530) |+ 870| (1,540) | x s 820| (1, 490) | x pnE =
FT D I3 165, 250 159, 530 +| 1,540 X MER] 1,490 X NEE
81 A op |4BULR 39,090 (45,790)| 34 000/ (40,700)| + 320 (380) ] x mnEE 270]  (330) ] x A
ni 3 B R 45,790 (95, 860)| 40,700/ (90, 770) [+ 380 (850) | x pnEE 330  (800) | x & 5 150| - 50X Mk
90A 3z |1 2ER 95,860 (162, 880)| 90,770 (157,790) |+ 850| (1,520) | x inE=*E 800, (1,470) | x &=
FT T g w| | 162 830 157, 790 +| 1,520 xmE=| 1,470 X MEE
9 A op |4BULR 34,340) (41,040)[ 29,770] (36, 470)| + 270|  (330) | x pnEE 230]  (290) | x pnEE
6/100 i 3 B R 41,040/ (91,110)| 36,470 (86, 540) [+ 330  (800) | x g 290  (760) | x M=K 4 640 + 40X B
il [ T00A 32 |12 28R 91,110| (158,130)| 86,540| (153 560)|+ 800 (1,470)| x pn&E= 760 (1,430) | x pnE=
T T g w| | 188 130 153, 560 +| 140 xmeEE| 1,430 X EE
01A | g |[4BUER 33,080, (39,780) 28 920/ (35 620) |+ 260  (320) | x & 220|  (280) | x R
" 3 B =R 39,780, (89,850)| 35,620 (85, 690) |+ 320 (790) | x g 280  (750) | x hngE 4 220| + 40% MR
T10A sz |12 2R 89, 850| (156,870)| 85,690 (152, 710)|+ 790 (1,460) | X po& = 750 (1,420) | X pn&=
T I 156, 870 152, 710 +[ 1,460 X g 1,420 X g
1A | om |[4BUER 32,000 (38,700) 28 180 (34, 880) |+ 250|  (310) | x o= 210|  (270) | x o=
ni 3 B R 38,700/ (88,770)| 34,880 (84, 950) [+ 310|  (780) | x &= 270|  (740) | x g 3. 860| + 30X JnBE
1200 a2 |1 2R 88,770/ (155,790)| 84,950 (151,970) [+ 780| (1, 450) | x pn& = 740| (1, 410) | x pns
Fe 57 g 3 155, 790 151, 970 +[ 1,480 xpgE| 1,410 X pRE R
1210 | pp [4EHER 31,080 (37,780)| 27,560 (34, 260) [+ 240/  (300) | x =& 200]  (260)] x &&=
" 3 B R 37,780| (87,850)| 34,260 (84,330 |+ 300| (770) | x g 260 (730) | x hnEE 3,570| + 0% M
130X 3 |1 2R 87,850| (154,870)| 84,330 (151,350) [+ 770| (1, 440) | x pnE = 730| (1, 400) | x pnE=
FT T g " 154, 870 151, 350 +| 1,440 x| 1,400 X MELE
1314 | g |[4BULR 30,320 (37,020)| 27,080/ (33 750)|+ 230  (290) | x pnE = 200)  (260) | x pnE&
ni 3 B =R 37,020 (87,090)| 33,750 (83, 820) |+ 290  (760) | x g 260 (730) | x o 3.310| + 30% MR
1400 a2 |12 2R 87,090 (154,110)| 83,820 (150, 840) |+ 760 (1,430) | X pn& = 730| (1,400) | X pn&=
T 57 g " 154,110 150, 840 +[ 1,430 x g 1,400 X g
A | om |[4BUER 29,640 (36,340)| 26,590 (33, 290) [+ 230]  (290) | x pnEE 190  (250) | x xR
ni 3 B R 36,340 (86, 410)| 33,290 (83, 360) [+ 290  (760) | x pnEE 250 (720) | x pnEE 3,000 + 30X JnEE
150A sz |1 2ER 86, 410| (153,430)| 83,360/ (150, 380) |+ 760/ (1,430) | x pn&= 720| (1,390) | X pn&E=
1 B 153, 430 150, 380 +[ 1,430 X g 1,390 X g
1514 | om |[4BUER 29,910 (36, 610)| 27,060/ (33 750) |+ 230]  (290) | x pnER 200)  (260) | x pnEE
i 3 & B 36,610 (86,680)| 33 750 (83 820) |+ 290  (760) | x g 260 (730) | x o 2 90| + 20% sk
1600 | .o |1, 28R 86,680 (153,700)| 83,820| (150, 840)|+ 760| (1,430) | x &= 730 (1, 400) | x &=
FT T g el | 183700 150, 840 +| 1430 xmE=| 1,400 X IEE
161A | om |4BUER 29,360 (36,060)| 26,670] (33 370) [+ 220]  (280) | x pnEE 200)  (260) | x pnE=
P 3 & R 36,060 (86,130)| 33370 (83 440) |+ 280  (750) | x hngE 260  (730) | x o 2 730 + 20X fn B
170N sz |12 2R 86,130| (153,150) 83,440 (150, 460) | + 750 (1,420) | X pn&= 730| (1,400) | X pn&g=
FT T g " 153, 150 150, 460 +| 1,420 x e 1,400 X PELE
05 |[4BULER 28,850| (35,550)| 26,300/ (33 000) [+ 220|  (280) | x pnE & 190  (250) | x xR
171A 3 B R 35,550| (85,620)| 33,000/ (83 070)(+ 280  (750) | x pnEE 250 (720) | x pnEE 2 570| + 20% MR
Bk gm |1 28R 85,620 (152, 640)| 83,070 (150, 090) [+ 750| (1, 420) | X pngs 720| (1,390) | x pn&=E
7 " 152, 640 150, 090 +[ 1,420 X g 1,390 X g
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" o SmREREBHREME HKBREME RERBME
% | ears | 22| sy P
WBHEFME WBHEFMH N -
o | mE
0] @ ©)] @ ©) (@]
25 gﬁui:ﬁ (667382) (Ggox ﬂ;§$> 26320 24,710
204 1 i’“‘ .E ’ XA M0 4] 190 s
35 [ R 24,710
B R
2n | o 4;%WL:E (6, 700) (60xnu§§>l DL —
30;)3\\»3 3 ® R 6, 700 60 X MNEE 080 | 30 e
- |1. 2mR 18,080
T | 35 g " ’
An | o 4%&»::/:& (6, 700) (GOXBD§Z§>’ a0
40;J\b 3 ® R 6, 700 60 X MNEE 780 | goxmas
A L1, 28R 14760
T | 35 g " r 7 ’
_ [4murr 6, 700 60 X AN
A e 3’%“#& = ( 6 70)0 ( somui@ HRERBEOFME | |[hEREOEME 14,380 — o
50A‘° ; '2%;; b ~FATFE L RFATFE L% O 7ox mEs
| 35 [ - 12,780
il D " ~ 2104 ~ 2104
s5in | 25 4ﬁwi:,:h (6, 700) (60xﬂu§2§)l 232, 300 2, 320X B s
" 3 ®m R 6, 700 60 X & & , +| eoxmmE=
60A - |1, 2R 21 A~ 279K 211 A~ 279A
T | 3% 11, 450
7, I3 248, 900 2,480 x fnE R
61A op |4BULR[+] (67000 (60x ) 12,110
o 3 ® B 6, 700 60 X MNEE 280 A~ 349A 280 A~ 349A 10, 500 o
+| 50xfnEx
70A - |1, 2R 282, 100 2, 820 X In& &
T | 3% 10, 500
B I3
s [4murr]+[ 6.700] (60xmE=) 350 A~ 4194 350 A~ 419A
e | 2® = = 315, 400 3,150 114005 200
s 3 ® R 6, 700 60X B % ! , 150 X & & 0] | soxomms
0| as |1 28R 9, 790
FT T |y " 420 A~ 48IA 420 A~ 489N :
o [4murr]+[ 6700] (60xmE=) 348, 600 3, 480 X & &
N = = 10,850
" 3 ® R 6, 700 60 X MEE L 240) | goxomm
90A 1. 2mR 490 A~ 559A 490 A~ BBIA
T | 35 [ 9, 240
7, I3 381, 900 3, 810X &%
91 A pg |4EELER[+]| (6.700)]  (60xHn5)
6/100 " 3 ® R 6, 700 60 X MEE B60A~ 620N | | 560N~ 620A | | |&FHA®D
g | 1004 NN 415, 100 4,150xmE=E| | | MAFE LK
=T | 3% |
g I3
101A | om |4BULER|+] 6.700] (60 k) 630 A~ 69IA 630 A~ 699A
n 3 ® R 6, 700 60X MNE % 448, 400 4, 480 X fNE K
110N 22 1. 2R
e " 700 A~ 769X T00A~ 7694
MA | g |4BULER|+[ (6700 (60xm5F) 481, 600 4, 810 fng
|73 B B 6,700  60xmEE
1208 |1, 2mR T7I0A~ 839A T70A~ 839N
=T | 3% |
B R’ 514, 900 5, 140X iN&E &
121 A o [4WHUER (6,700)[ (60 pnEER)
25
s 3 m R 6, 700 60 X MEE B40A~ 909A 840 A~ 909A
130A - |1 28R 548, 100 5, 480 X fRE R
T | 35 |
g I3
1314 | om |4BMLER|+] 6700 (60 ) 910 A~ 979A 910 A~ 979A
~id 3 B R 6, 700 60 X JHE R 581, 400 5, 810X INE &
140N 22 1. 2R
i ) " 980 A~1, 049 A 980 A~1, 049X
1A | g |4BULER|+[ 6700 (60x705T) 614, 600 6, 140 X fn& s
a7 3 B ® 6,700] 60X mEE
150 A - |1 28R 1, 050 A~ 1, 050 A ~
=T | 3% |
2 R 647, 900 6, 470 x inE R
1514 o [4BMER|+[ (6700 (60x )
25 - 1
" 3 ® R 6, 700 60 X MEE
160A 1. 2&R
T | 95 Iy "
1614 o [4murr]+[ 6 700] (60xmE=)
25
" 3 ® R 6, 700 60 X MNEE
1700 N ENY T
T | %5 Iy "
oz [4BULERI+[6.700)] (60xmEE)
IVAPN 3 ® R 6, 700 60 X fpE &
Ut 1. 2R
3g |
2 I3
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i - RS B F— ARE RN REER | | g sl
mo |BRAES | gy | FHED e meEs manes| | CEORA | [BRETTS| | Tmarese
B ok | Bk | g n#
0] @ ©)] @ @ ® @ ® @
o |4BUER| A 59000 650 [abs| 15100 16,800 ©+0
3 & ®|,|Bust| 5600 6200, | bk 8300 9 200 ] +©@-+@) (©~®)
20A ag |1~ 2m| " [cwm 50 so0 | o 7,200 8 000 204 UOI) =7 DO £ X 7/100 X 80/100
B w| | Dt | 5000 56000 | dss 6500 7,200
2A | gg [4BBLER| [Ass | 4100 4500 |atsH | 10500 11,700 ©+0
3073\5 3 #& |, (B 3900 4300 | btk 5800 6.400( | 000l | an e +@+@) (®~®)
A ge | 1. 2ERE| |Cist 3800 4200 | ok | 5000 5 600 x 7/100 x 87/100
T g w| | Dt | 36000 4000 | dss| 4,500 5 000
5In | g [4ESLEE| [Ati] 3600 4000 [aitsh] 9300 10400 ®+0
40;J\5 3 @ W[, |Bim 3400 3700 | b | 5100 5700 |0 oeol i f 00 s +Q@+®) (©~®)
A ge |1. 2ERE| |Cist 3200 3600 | ot | 4500 5 000 x 7/100 X 96/100
T m w| | D | 31000 3,400] | dsst | 4,000 4 400
41N | pg [4ESERE| [Ats ] 3300 3600| [ 83000 9300 ®+0
o 3 & ||, |Bust| 3100 3400] | b | 4,600 5 100 oL T +@+@) (®~®)
50 A 3m [T 28R Cibig | 2,900 3,200 cHiig | 4,000 4 400 ' X 7/100 X 92/100
T m w| | D | 2800 3,100] | d#s | 36000 4 000
SIA | o |4MSMLER| |Attst| 27000 3000 |adtid| 7,00 7,800 ®+0
" 3 & ||, | Bt 2600 2800 | b | 3,800 4 300 o | e +@+@) (®~®)
60A g |1 2@R| [Cbs 2400 2700| | okl | 3,300 3700 ' x 7/100 X 90/100
T m w| | D | 23000 2600] | dast | 3000 3 300
61A | o |4MSLER| |Atst| 23000 2600 |adtid| 6000 6 700 ®+0
o 3 & ||, |B#st| 2200 2400] | b | 3,300 3 600 e [ Qe +@+@) (®~®)
T0A g [1. 28R| | CHl| 2100 2300 cHil | 2,900 3 200 ' X 7/100 X 92/100
T m w| | Dt | 2000 2200] | dss 2500 2 800
TIA | o [4ESLER| [Ats] 26000 2900 [t 6700 7500 ©+0
S 3 & ||, |Bust| 2500 2800, | bk 3,700 4 100 s | . +©@+@) (©~®)
80A ae |12 28| |Citst | 2400 2600 | o 3200 3600 ' X 7/100 X 90/100
T | w| | Dt | 2300 25000 | dsst 2900 3 200
gIA | o [4ESLEE| [Awi] 2300 2600 [aitsi] 6000 6700 ®+0
o 3 & ||, | Bt 2200 2500 | b | 3,300 3 600 PYP e | e — +@+@) (®~®)
90A am |12 2R CHbigt | 2,100/ 2 300 cHbi | 2,900/ 3 200 ' X 7/100 X 91/100
i D w| | D | 2000 2200 | dss| 2500 2 800
gin | g [4ESLER| [Asi] 2100 23000 [aisi] 5400 6 000 (©+D+®) ®+0
6/100 o 3 & ||, |B#st| 2000 2200 | b | 2900 3 300 PR | +@+@) (®~®)
il | 100A g |1 2®R| O 1,900 2100 | ciss| 2,50 280 ' x 10/100 X 8/100 X 96/100
T w| | D | 1,800 2000] | dsst| 2300 2 500
101A | o |4BMER| [Assi| 2300 2500 [aihs| 5800 6500 10
o 3 & ||, | Bt 2200 2400] | b | 3,200 3 500 o T EE—— +@+@) (®~®)
MOA | oo |1, 28| |Cis  2100) 2300 | cdish| 2800 3100 ’ x 8/100 X 95/100
T | w| | osmm | 2000 2200| |dss 250 2 800
1A | og |4BMER| [Ass] 21000 2300 |athi| 5400 6,000 ©10
e 3 & ||, |B#st| 2000 2200 | b | 290 3300 | T EPp——— +@+@) (©~®)
1208 g |1 2mR| [Cbs 1,900 2100| | okl | 2,600 2800 ' X 8/100 x 96/100
T w| | D | 1,800 2,000] | d#st | 2300 2 500
121A | om |4BMER| [Ass 19000 2100 |attht 4800 5 400 @D
o 3 & ||, |Bst| 1,900 2000 | bk | 2600 2 900 | I EPp—— +©@+@) (©~®)
1304 g | 1. 2mRE| [Cs | 1,700 1,000 | | 2300 2500 ' X 8/100 x 97/100
T a w| | Dt | 1,700 1.800] | dss | 2000 2 300
131 | o |4BMER| [Asst | 21000 2300 [atsh| 5400] 6 000 ©rD
o 3 & ||, |Bust| 2000 2200, | b 2900 3 300 5 ol e +©@-+@) (©~®)
MOA oo 1. 2&®R| | o 1.000) 2100) | ol | 2,500 2800 ’ x 8/100 X 98/100
i ) w| | Dt | 1,800 2000] | dss| 2300 2 500
A | o |4BMER| [Asst| 2000 2200| [adsh] 5100] 5700 10
o) 3 & ||, |Bu#st| 1,90 2100 | b | 2800 3 100 5 ]| e +@+@) (©~®)
190A 1 o |1 2| |owm | 1,800 1,900 | o | 2400 2700 ’ X 8/100 X 98/100
T lm w| | D | 1,700 1,900] | dsst | 2200 2 400
151A | g [4BMER| [Ats| 1,800 2000 [adhs | 4600 5200 ®+0
) 3 & ||, |B#st| 1,800 1,900 | b | 2500 2 800 5 ]| e +@+@) (©~®)
160 e [1. 2#R| |CHs | 1,600 1.800| | i 2,200 2500 ' X 8/100 X 98/100
il ) w| | D | 1,600 1,700] | d#s | 2000 2 200
161A | om |4BMER| [Ass] 20000 2200 |atyi 5100 5700 ®+Q
) 3 & || | B#st| 1,90 2100 | b | 2800 3 100 5 sl | e +@+@) (©~®)
10A oo |1, 2K| | cis 1800 1,000| | o | 2400 2,700 ' x 8/100 X 99/100
) w| | D | 1,700 1,800] | dast | 2200 2 400
o [4MUER| [Aths [ 1800 2000] |akhs | 4600 5200 ®+Q
1714 3 & ||, |B#st| 1,800 1,900 | b | 2500 2 800 5 ol | e +©@+@) (©~®)
HE g5 [1. 28R| |Cibu| 1,700 1,800| | ol 2,200 2500 ' % 8/100 % 99/100
B w| | Dt | 1,600 1,700] | dss | 2,000 2 200
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REVEEXS © WBHEEFMHE FEREME
i | g RE REZEREAE RBERHERE REZEREAE HFERRERE
my |ERES| gy | FRED EFSEE EFSEm JE—
) ) 3 3 e
0] @ ©)] @ ® ® @ @
og |4BULR 88,250 (94,780)| 65 870] (72, 400)| + 810/  (870) | x pnE= 590  (650)| x &
oA 3 B R 94,780, (143,680) 72,400 (121, 300) |+ 870/ (1,330) | Xt 650 (1,110) xmgEzkf |, gool o 200 X B
gm |12 28R 143,680 (209, 020)| 121,300] (186,640)|+| 1.330] (1,980)| x mz=x| 1,110) (1,760)| x ek
ER 7 209, 020 186, 640 +| 1,980 X mER| 1,760 X B R
91 A oz [ABULER 66,060 (72,590)| 51,150] (57, 680) |+ 590|  (650) | x = 440]  (500) | x & *
i 3 B R 72,690| (121,490)| 57,680 (106, 580) [+ 650/ (1,110) | Xt 500 (960) xmgEf |0 000l 4 150 e
30A am |12 2R 121,490 (186,830)| 106,580| (171,920)|+| 1,110] (1,760) | x = 960| (1, 610) | x &=
FT| 7 g w| | 186 830 171, 920 +| 1,760 xmE=| 1,610 X IEE
A op |4BULR 55,020 (61,550)| 43,830] (50, 360) |+ 480  (540) | x & E 370|  (430) | x
" 3 B R 61,550 (110,450)| 50,360/ (99, 260) [ + 540/ (1,000) | Xt 430 (890) xmgEaEf |4 oq0l L 10X e
40N sz |12 2R 110,450| (175,790)| 99,260| (164,600)|+| 1,000/ (1,650) | x pnE® 890| (1,540) | x mngrs
FT g w| | 175790 164, 600 +| 1,680 x k| 1,540 X S
A o [ABUER 53,220 (59,750)| 44,270] (50, 800) | + 460|  (520) | x g 370|  (430) | x pnE=
i 3 & B 59,750, (108,650) 50,800 (99, 700) | + 520/  (980) | x N 430/ (890) | x nEEE 9,020 + 900 X JnBE
50A 3 |12 28R 108,650, (173,990) [ 99,700/ (165, 040) | + 980/ (1, 630) | x &R 890 (1,540) | x =&
e s 173, 990 165, 040 +[ 1,630 x g 1,540 X g
51 A og |4BULR 47,550| (54,080)| 40,090 (46, 620) |+ 400  (460) | x pnE = 330]  (390) | x A=
i 3 B R 54,080  (102,980)| 46,620 (95 520) [+ 460  (920) | x X 390/  (850) | x X 7.500| + 0% I8
60A 32 |12 2ER 102,980 (168,320) [ 95,520 (160, 860) | + 920/ (1,570) | x &R 850 (1,500) | x &R
ET| T g " 168, 320 160, 860 +[ 1,570 X g 1,500 X g
610 0g |4BULR 43,580| (50,110)| 37,180 (43 710)|+ 360  (420) | x pnEE 300/ (360) | x =
i 3 B R 50,110 (99,010)| 43,710] (92 610) [+ 420/ (880) | x X 360 (820) | x X 6, 440| + 60X MR
70X 3 |1 2R 99,010, (164,350)| 92 610/ (157, 950) |+ 880/ (1,530) | x pnER 820| (1,470) | x g &
R Rl ED 7 164, 350 157, 950 +[ 1,530 X g 1,470 X g
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